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B.A. (Hons.) (Part 111) EXAMINATION - 2020
(Faculty of Arts)

(Three - Year Scheme of 1042+ 3 Pattern)
(Honours Subjects)
FCONOMICS
IX - Paper

(Mathematical Fconomics)

Time Allowed : Three Hours

Maximum Marks : 100

Write vour roll number on question paper before start writing answers of questions. No supplementar
answerbook will be given to any candidate. hence the candidates should write their answers preciseiy

Part - A shall contain question No.1 consisting of very short type X (Ten) questions. The candidate s
required to answer cach question in 20 words. Part - B shall contain question No. 2 consisting of V ( five
questions. The candidate 1s required to answer each question in 100 words. Part - C shall contain 3 cassv
tvpe gquestions (one from each section) with internal choice.

Attempt Five question in all. All questions of Part - Aand Part - B are compulsory while rest 3 question are

10 be attempted from Part - C selecting one question from each section. All question carry equal marks.

PART -A /911 — 3

l. /1') Define utility function.
YT HeAd &1 gRETed i |
/n 1) Whatdoes Slutsky equation tells?
D] ARV @] ddld] B2
/Aii) What do you understand by compensated demand function”’
&I A1) Wt ¥ 319 1 HHsid 87

% : : : .
) Detine homogeneous production function.

HHIY IAIGH Bedd &l yiewiiag ¢foru |
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(v) Whatis output expansion path?
" Seare RRAR g I R &7
(}i) Write down any two properties of isoquants.
s aw @ Q) Rdwary i |
(vii)  Whatdo youunderstand by Leontiff inverse?
O Ryatafow e R am am w7
(vii) Inthe contextof Linear Programming define basis solution.
T Xl i @ dd A ARs vat @ aRmfia A
(1IxX)  Who & when invented input output analyze.

’ a3k @e 3mra — il dige &1 ifdeR fhar 27

(X) Indicate whether the following pay off matrix is zero sum or constant sumgame.._

T

Tuiy H=foRad ¥ — aife 3y 0 anT 1 ReR @ &2
5 2 -
A= 10 B= :
7 1 0 o
Explainin brief Roy's identity.

1 AR @1 widra § Fw=v |

PART - B/HTTT — 9

!‘J

3. Suppose utility functions are
(i) u=x,x. (i)  v=x x;
(1) v=4x,x. (iv)  v=4xx,+17

(v) v=log(x,x,)

Which functions are transformation of (i)

e IUFIAA B S UPR A & -
(i) u=xx, (i)  v=x, x
(i11) v=4x,x, (iv)  v=4xx,+17

(v) v=log(x,x,)
4. Verify whether the following function is well - behaved
HaaTud g afe f=iforiad wer YeaaeRa ber & -
7 =2Hxy - AX’ - By’
given H, A & B are constants such that
H,AUG B34 yare {2 & fad
H > AB
5. Writeashort note on Hawkins - Simon Condition.
Bifdh=a 31R AIgH+1 o1l yv ldna 1 feugof) aifdru |
3208 - IX 2



ne coinl

6. Two player A & B simultancously pl: A
ly place a coin on a table. 1f both the coins match. Player A takes

lse pla}-‘cr B mkes the C(\il\S. Construct apav oftn tri

e apay natrix.

W \y S S l

I IR &) RIS A Q? 9 U Ryt Ta et T { | afy @ Ryad T S8 W E ¥ cra RaemS
< 2] AN > :

39 a1 Ryl P @ AT ¥ A RIS @ @ A R | WA A b ¥ s A B forstor PR

- Coin matching means both the coins shows tail or head)
: Ste a

(Note
: S e
(Fire: afs AN Ry 2SW W A QWK B @ I T AT HAT ST
PART - C/®m1 - C N
SECTION - A/ @vs - & §
urve N

- Define indifference curve / i
: ¢. What arc 1ts e P ; .. -
é s propertics. Prove the convexity of indifference ¢

mathematically.

WﬁﬁWWIWWWMﬁ?WWWﬁWﬁm
g dIT

?FTITTf"T\?Ta?WVrH‘I?? E

OR/ 34l

(a) Writeanoteonthe following:-
Sr=faieg w feaeh S
(i) Engle aggregatién condition
2

Yo AT T

Carnot condition
Eliin ;

(b) Ifthe utility function is Cobb - Dougles. derive the supply curve of labour.
©

ﬁmwm—m%ﬁmmqﬁwmml

SECTION - B/ @Us — q

tion is a constant other than unity while in the Cobb -

of substitution in the C.G.S. func
Douglas function elasticity of substitution is unity." C

"@WWWWH&@WW&W%%
gﬁrwma‘rﬂw?ré‘r%r'%mﬁaﬁl

8. "The elasticity
omment.

aﬁ»ﬁwa@aﬂﬁﬁaﬁa—@mmﬁ

OR/ JAar
(a) Maximize the output subjectto cost constrained.
Wﬁsﬁﬁmaﬁﬁﬁgmmﬁmﬁwﬁ@:
q=1(x, X,)
C=rx, trx+C 1«
(b) Minimize the cost subject to the pivenoutput.
foray U FeureH @1 AT 3 e g T i =T R |
C=rx,1 rx, G,

Llw - “(Xh )\_‘)
P
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SECTION - C/9¥ts — i

) Solve the following linear programming problem with simplex method:

s forer YT AT T @ Rpraia Y g1 & BIRT

Max of =2x+5y

SIRERLEIININ
Subject to X+dy<24
RIGERS) Ity <2l
x+y<9and
15
X.y =20
ne 5
(h) Write down the limitations of input - output model.
3T — Al Jred @ st folkay |
OR/ 3rqar
() Findthe solution of the following games:
= wa &1 & sd B -
B, B. B,
AT 3 1 Find the value of game for player A&B
WA o 4 53 A & B Reeifeal & R @ a1 A1
Al s o ST AT |
35 -5 4
(11) A= -2 ] 2
I 1 2 6

(ii1) Mohan is paid Rs. 8 if two coins turns both heads & Rs. 1. If two coins twin both tails. Shayam
is paid Rs. 3 when the two coins do not mach. Whom do you consider in the better situations?
uﬁﬁﬁﬁr@wmm%?ﬁmﬁzaﬁaméaﬁ?wmm%w 31 fera
%lﬁﬁﬁﬁﬂﬁﬁaﬁmwﬁzzﬁaﬁﬁlmﬁwﬁﬁﬁmmm
i 9

(b) Explainin briefthe cob - web model.

AFE AT 4ied &l Giee 4 AHILY |

5
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B.A. (Hons.) (Part - 111) EXAMINATION - 2020 A\

(Faculty of Arts) \

( Three - Year Scheme of 104243 Pattern) \\

(Honours Subject) \

ECONOMICS
XII (B) - Paper

(Introductory Econometrics)

Time Allowed: Three Hours

Maximum Marks: 100

Wrnite vour roll number on question paper before start writing answers of questions. No supplementary
answerbook will be given to any candidate. hence the candidates should write thei; answers precisciy.

Pa; - A shal! contain question No. ! consisting of very short type X(Ten) question. The candidate is icquired
to answer each question in 20 words. Part - B shall contain question No. 2 consisting of V (five) questions. The

candidate is required to answer each question in 100 words. Part - C shall contain 3 eassy type questions (one

from each section) with internal choice.
Auttempt Five question in all. All questions of Part - A and Part - B are compulsory while rest 3 question are to

be attempted from Part - C selecting one question from «-»ch section. Al question carry egral marks.
PART - A/ 91T — 31
1.(1) Define regression analysis. |
ferTa fageryor &7 g9 ST |
What is the difference between population, & sample regression function.
FHY U4 FHAT GIATHA G- & 4 | 91 3faR grar 87
(iii)  Whatisthe decision rule in the confidence interval approach?
farearear siavrer fafer # favfa o= @1 frem @ gian &2
(iv)  Whatis Maintained hypothesis?
Hewe IREGAT 91 BT &7
(v)  Define composite hypothesis.
T RS BT aR41fid o |
(vi)  Whatdoes accepting a hypothesis implies?

IREHT FHR B P 97 7eford 2rar 27

(11)



(vit)

(viii)

(ix)

(x)

6.

What do you understand by power of test”

gferor & arda 9 g F b {7

Which mathematician is associated with ordinary least
;3

square method (€ .S)?

01 S faeh @ g @ nfias J3 8L
Write the formula for estimating 1

o Haa B g3 forf3gu |
What is the difference between C1 RM & CNILRM

C1 RM a3l ONI.RM & w021 a1 3fav #Yar 7
PART -B/T1m - §

Ilustrate with an example specification of mathematical & econometric model.
v gETENT A wee A T AR apeffifta dtea @ fAfide At @ |

Determine whether the following models are linear in parameters or variables or both.

=g died § @ fhay died Hueve) ok =R § kw2

o1 b

(b) ." . — BI + Bf'ln “-r + u'
(C’ /'): = qu +le"““l +,//
(d) /I} - /nB] +B:!n"'l +ul
. 1
(€) 1y =B, - B:(;‘J*“ ,
Explain in brief the significance of stochasiic disturbance term.
Stochastic disturbance term 1 +ETT B FlE< # FAISY |
What are the numerical properties of estimators obtained by the method of OLS.

OLS faeft g1 yra viederd &) ST faeyant om 87

Interpret the following results:
fam=iferfRaa ufRomal &1 are I |
Y =24.45+0.509,
S, =(6.4138) (0.0357)
1 =(3.8128) (14.2605)

P =(0.0025) (0.00000)

r’ =0.9621
PART - C/911 — W
SECTION - A/@vsg — 3
Define econometrics. Why is it considered as a separate discipline? What are the types of

econometrics?

Sefaf @1 gRwfda @i | faa aron @ g vy @ s fAvg grem s 82 sdfif i
4+10+6

bR Bl 872
2
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OR/ Aerary
Explain the following :
fFrfeiaa @) favame 1 awany
(a) Mecasurement Scale of Variable
TR BT 7Y Yoy
(b) Types of data
HHE) B yPR
SECTION - B/ @vg
Write a note on the following:
fFR=forRed gr fRugofy ClGIVE
(a) Typeland type Il error
IR — [ TSR -115f
(b) Pointand internal estimation
fdg 3R sfaTet argmm
OR/ 3rqar

- 9

A
(@]

10
LY

Exriain the iest of sigiificance approach of Hypothesis testing. Hov. docs one tailed test diffzis fron:

two - tailed test?

uR&IT TRETVT B Ae TerT e o fawar & w9= | f5e ToR ¥ U6 45 e & 10

leror F = grar 27

15+5

SECTION - C/@vs — ¥

: . . . B - AN .
Prove that b. estimated by OLS method foilows Gauss Markov ixorem for PRF:Y = -8.X - ..

ﬁrgaﬁﬁrq%OLsf%rzﬁmagmﬁaﬁzGauss-Markovﬁmaaﬁw%m PRF:Y =B, +B.X ~u

g1

OR/ 3Iar

From the following PRF. estimate 3, & B..

fpferfead PRF A < B, & B, &1 A1 Fiferd
Yi:B|+ﬁ2Xl+u'

3208-XII-B



B.A.(Hons.)(Pt. 1IN 000104 Raoll Na. ﬂ%’ééz—
3208 .\
208 - X F.co. (Hons) X

BA (Hons) (Part - 1L EXAMINAT TON - May, 2020
(Meld on Ot 2000
(Faculty of Arts)
(Three - Year Scheme of 1010 03 Pattern)
(Honours Subject)
ECONOMICS
X-Paper

(Public Finance)

Time Allowed: Three Hours
Maximum Marks: 100

Write your roll number on question paper before start writing answers of questions. No supplementar
answerbook will be givento any candidate. hence the candidates should write their answers precisely
Part - A shall contain question No. 1 consisting of very short type X(Ten) questions. The candidate 1s required
toanswer cach question in 20 words. Part - B shall contain question No. 2 consisting of V (five) questions. The
candidate 1s required 1o answer each question in 100 words. Part - C shall contain 3 cassy type questions (one
from cach section) with internal choice.
Attempt Five question in all. All questions of Part - A and Part - B arc compulsory while rest 3 question are to
be attempied from Part - C selecting one question from each section. All question carry equal marks.
PART - A/9T1 — 3
I.(1)  State the meaning of Public finance.
ATaiaa & au ared 87
(1) What s meant by the principle of least aggregate sacrifice’
e qHY @R & (g 4 @l diegd 87
(1) Whatdo vou understand by progressive tax system?
VaTa et B¢ YUTTell 9 319 @l Hgd 87
(V) State any three main aims of fiscal policy.
JASiBI1 ANfd & d1g A4 YHRd I8 dcligd |
(v)  Whatdo vouunderstand by public expenditure?

Aldh @11 3 31U q) qld 82
— P.T.O.



(vi)  Whatdo voumean by deficit himancing

(\11

(vili) Meaning of impact ol 1ax
' ATEY

reTa &
» . 5 )
What i< the difference between the social good and private good

(EA Y
. ) "
msrdaE gk ;Y H g # 7 IR &

(x)  State am two main Sources of internal debt.
wRE W B FIE &) UNE A 9a1gd |
PART - B/ — 4

Discuss Wagner's Law of public finance.
ardafe e @ e Rigra & T |
I xamine the effects of taxation on production and distribution.

s A AR IR geH drel W 1 9eigd |

(1)
N S

FNIX (T

Discuss the Cannons of public expenditure.
srdulae au @ gl & 9arsd |

What do vou mean by balanced budget Multiplier?

(111}

()
F={ferad gwe U | Y ] FHHA 82

What is the current tax revenue and non-tax revenue of the Central Government”

Fg EVETY &) aaHIT B ST IR TR—BX AT FAT 87
PART -C/91T — 9

SECTION -/ @vs — |

Critically examine the principle of maximum social advantage.

sfeFEas GEfAE 74 [T B A1ATg-TcHD ANe P |
OR/ 3Y4d]

Explain the theories of social goods.

Ao awgen & fazr @1 gagngd |
SECTION - 11/ @vs — 11

Explain the basic characteristics of Public debt in India and narrate the suggestions for overcoming

the problems of increased public debt.
ARG A idutfaa x  uded aeuaid adid ge 4gd gy didufad Fer @ i @ [ @

319 71 Ggiid <7 |

208 - X
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OR/ 31erar
I:xplain the meaning and objectives of Fiscal Policy.
it A @ aief vd SR B R g |
SECTION - 111/ @vg - )
Write adetail note on the recent trends in public expenditure of Government of India.

HIRA AR B AN @1 B 3 wgReii w e o e |

OR/ 3refar

Write short notes on the following:

(i) Conceptsof budget deficit.

(i1) Functional classification of budget.
fRfdra wR wfeng fewofy f%l'f@(' :

(i) FoTe TS B SFaRROY

(ii) IOTC BT BRATHS TATHT |
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B.A. (Hons.) (Part - ) EXAMINATION - May, 2020
(Held on Oct. 2020)
(Faculty of Arts)
(Three - Year Scheme of 10+2+3 Pattern)
(Honours Subject)
ECONOMICS
XI - Paper

(Development Economics)

Time Allowed: Three Hours

Maximum Marks : 100

Write vour roll number on question paper before start writing answers of questions. No supplementary
answerbook will be given to any candidate, hence the candidates should write their answers precisely.

Part - A shall contain question No. 1 consisting of very short type X (Ten) questions. The candidate is required
to answer each question in 20 words. Part - B shall contain question No. 2 consisting of V (five) questions. The
candidate is required to answer each question in 100 words. Part C shall contain 3 eassy type questions (one
from each section) with internal choice.

Attempt Five question in all. All questions of Part - A and Part - B are compulsory while rest 3 question are to
be attempted from Part - C selecting one question from each section. All question carry equal marks.

PART -A/41T7T — A

1. (i) DefineICOR.
e, Y. 311, IR BT IRATT BT |

(ii) According to goulet, what are the three core values of development?
Tirere & SR R @ fore ¢ T 7ea Far &7

(iii) What is does Kuznets is Hypothesis tells?
o YRHT T Ferl &7

(iv) Write down the indicators of Human Development Index.
Aa e Gasie & A9 BT 7 fofa |

(v) Define globalization.

ATHROT I FfRATE DI |

(vi) Write the name of two economists associated with the theory of balanced growth.

wiqfere faTr o Rigia & S gY < it & 1 |
P.T.O.
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(5]

_Ul

Wnal do VO
sOuunders )
tand by IRR. (Internal rating return)?

SRS ey
S 3 ) gy 7

(Vi) wy,
atdo yoy
YOou mean by
( - nby NPV (Net present value)?
q VI e 3
" Waé.qm %) 2 45 Aoy D o s gy 27
rite down two objecti Indi
Iectives of Indian Planning.

N TR P 3 o) Sqawy fafay |

WhatisNDA©
NSRS FF

PART -B /w11 — 4

How(
O€seconomic dev .
omic development differs from economic growth”

%“W%ﬁm.mmgﬁ;wamg?

Briefly compare Harrod's model of economic growth with Damar's model.
&S B 34 R o o o qere S et @ et 3 BT
Write a short note on one investment criteria.

Y1 & B o srres R e R AR

Whatare the problems of open economy?

Gl refergeer & aar gaam gl 27 -
PART -C/|TT — ¥

SECTION -A/@vs — 3

Explain the characteristics of developing economies.
frpradier aifaravernai @ fadgan] E7s |
OR/ 3Ydr
Explain the various impediments to development. Also suggest the remedies.
m%%ﬁﬁﬁﬂmaﬂmﬁﬁﬁ?ﬁwﬁwﬁ@m@aﬁw%ﬁww%ﬁéﬂl
SECTION - B/@vs — 4q

Critically examine the Sollow model of economic growth in detail.
anffa fasma @ Grdl Aisd B favdRyden SIS Hedidh o |
OR/ 314t

Explain the Lewis Model of economic growth through unlimited supply of labour.

s ) st it @ onféde 9fE & g @ Rigia / disel a1 wisy |
2
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SECTION - C/@vs — 9|
9. Critically evaluate the strategy for development adopted by plans in India.
R # Aot g1 e @ g 31aerg 7€ gomedt o arelraTed fAgerser i |
OR/ J¥ar

Explainin detail the evolution of NITI AYOG.
DRy AT B Sfgdr B AR | [HEY |

3208 - X1 3



